S ub,tracti,ng ones challange sheet:

Explain how you know

Continue the pattern Which image does not represent
22=29-7 339 -87
22 = 28 - E & 1 1 I{/_I | | | 1 1 N S
T, 1 1 1 I | | | ] 1 I I -~
330 340
Moy
Moy
e
? .
True or False Always, Sometimes, Never
These four calculations have the same
answer.
| am thinking of a 2 digit
14442 4+2+1 number. If | subtract ones
from it, only the ones
>4+ 441 A+4142 column will change

£

Explain your answer.

These four calculations have the same
answer.




Alex thinks the chart shows 456 - 4

Do you agree? Complete:
Hundreds Tens Ones 356 _ 5 — 356 — 5 — 7156 — 5 =
Co| 89 08 357 —5= 356 — 4 = 366 — 5 =
o0 |2% OO 358 -5 = 356 — 3 = 376 — 5=
O O
359-5= 356-2= 386 —-5=
Explain why.

Write a sensible numhber 5t07'}j fOT' Jack has 534 team points and gets four more.
328 - L= Tommy has 534 team points and loses four of his.
How many team points does each person have?
Who has the most?




